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L R r— A BB 3 % 3£ 4 B 3838 4 49 Samuelson condition »

o R AR A JE Kdn M A AL 818 Samuelson condition T

B 7 (25 &%)

2. RAGERTAEE —RYE B > i AT 2 RNH 2 - (25

3

)

3. AT " BB R — 2k (Time inconsistency) ? 342 i 18 2 2 3k R A -

(25 %)

4. RBAMRim Ty T REM KR (Inverse elasticity rule)sr 35 B 47 7

WAL - HPRADH it E 2 - (254)
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FHBARE - | %
OWGE—BHEBU(x,y) = (x=x,)" ()" 0<a < L0<pB<la+f=1 HFEH X
LS F B AR F ORI o TR SIS T A S - #
(©A - B MR 4 B B FALK)#FY (LK) - (485 CRS. 25 M + MRS &
Q'=Q°=10 ¥ % & Bl R AT SHALK)ATE L - ﬁ

(@%ﬁ%¢ﬁ:@wiﬁﬁﬁi@@%ﬁFmKFMﬁkw+mWW”wbm
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(O E B LR B A — R BRI TR R 7% RS PSR R IB 4 BsEE )
B BT S FIRTS SR 5 2 8T -

—. REME — FWAETIIF D B AT ¢ (309)

@) FEFY—RIZHE Cobb-Douglas EHE(S quasi-concave - ar HEE BT 371 3
J(x)=(Inx)"(Iny)" 2 x>1,y>1,2>0,b>0 [ a+b<l ¥z (#) 4] - ki 7
#am Positive Monotone Transformation Eil ( )T~ M BEHER -

(b) Derive the production function which is corresponding to the cost function
Cly, W) =y(wi+(wwz)" +wy).

(c) Consider an economy with two consumers and two commodities. Consumer ; has
an endowment of one unit of good j and none of any other good. Consumer j has
utility function u,(x;,x) = B,logx; + ( 1-B)logx., where 0 <, <1,

(i) Find the (unique) competitive equilibrium allocation.
(i)  Find all of the Pareto optimal allocations,

(d) FAEFERZ Nash I8 HAR © 90 (GE) BREE—EEE—
{&l Nash t9f#7 - |

Player B
Vas th H
Player A |- (1,2) (3,0 (1,1)
a2 (3,0) (2,1) (0,3)
T (2,2) (LD (2,0)
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veyo By =Cy-tGN+I(r, y2+6, 1,>0
m =B MP=L(yr) L>0, L<O,
HRESA—BHBETATHE -

1 $HEEELREA

y=a(y' - y) a>0
r=8m’-m) p>0
MERXEFER? BT

9. BERE A AT AR ? RIS IN# R AR - (20%)
W2, 1 4T E T (5%)
2 HBEAMBERAD > BAKMT? (5%)
3. EFEREAREATMMA? (10%)
2 4 & — AR ¢ (10%)
|, MEMETEER? HRERITER?
9. MBAKRAEE?LMRAERRKE?

|3 oy B8 0 ot B T S




	財政理論.pdf
	經濟理論.pdf

